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REVISION WORKSHEET 
GRADE-VIII
PT-1
RATIONAL NUMBERS
[bookmark: _GoBack]I.ANSWER THE FOLLOWING.
1. Write the additive inverse of the following.
	a)  		b) 
2. Write multiplicative inverse of the following.
	a) 		b) 6
3. Represent the following  in number line.
	a)  		b) 
4. Find 5 rational numbers for the following.
	a)  		b)  		c)  		d) 6 and 7
	e) -5 and -1
5. Simplify.
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LINEAR EQUATION IN ONE VARIABLES
ANSWER THE FOLLOWING.
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6. Solve the following equations and check your results.
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7. Solve the following equations .
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Find 2x 2 - x 1 using properties.

Find

12 x 3 using properties.
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6.Solve the following using distributive property.

@(Fxd)+(E x) @3 x [+ ()]
BEx3)-Gx3) @Gx3)+(Gx9
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SECTION-A

Choose the correct answer

1. Which of the following is not a linear equation in one variable?

).332¢45=0 b).33(x+y) =0 ©).33x+5=0
2. The solution of y/5 = 10 is:

a).15 b).10 ©). 50
3. The solution for 3m = 5m — (8/5) is:
a).8/5 b).% o). 54
4. Whatis the value of xif x +9 =122
a).2 b).3 .8

5. Solve2x+9=4.
a). X=6 b). X =-512 ©).X=-32

d).33y+5 =0

d).s

d).43

d).6

d). X=-92




